
Astre 90 AC Vision Référence C07990.06 

BPE le 26/10/2020 Page 1 sur 11 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Foyer 

Astre 90 Air 

Control Vision 

 
Référence C07990.06 

www.pieces-de-poele.com



Astre 90 AC Vision Référence C07990.06 

BPE le 06/12/2021 Page 5 sur 13 

 

 

 

www.pieces-de-poele.com



Astre 90 AC Vision Référence C07990.06 

BPE le 06/12/2021 Page 6 sur 13 

 

 

 
REP. DESIGNATIONS REFERENCES QTE 

1 JOINT THERMOCORDE Ø12 AI303012 2.000 

2 JOINT THERMOCORDE Ø12 AI303012 3.000 

3 RESSORT DE REGISTRE AS900112 1 

4 ENTRETOISE REGISTRE AS900113 1 

5 RONDELLE M6 AV4100060 4 

6 RONDELLE M8 AV4100080 4 

7 RONDELLE M5 AV4190050 6 

8 CALE OBLIQUE AV4240080 4 

9 GOUPILLE CANNELEE Ø6x30 AV6306300 2 

10 ECROU HEXAGONAL M5 AV7100050 6 

11 ECROU HEXAGONAL M6 AV7100060 4 

12 ECROU A EMBASE M8 AV7100060 8 

13 ECROU HEXAGONAL M8 AV7100080 3 

14 VIS FHC M6x20 AV8636200 4 

15 VIS FHC M6x30 AV8636300 4 

16 VIS FHC M8x40 AV8638400 3 

17 VIS M4x6 AV8644067 8 

18 VIS CHC M6x12 AV8666120 2 

19 VIS EMPREINTE CHC M8x40 AV8678400 1 

20 SOCLE F690160U 1 

21 EMBASE F690161B 1 

22 FOND EXTERIEUR F690162B 1 

23 COTE GAUCHE F690163B 1 

24 COTE DROIT F690164B 1 

25 FOND INTERIEUR F690165B 1 

26 SOCLE D'AVALOIR F690166B 1 

27 AVALOIR F690167B 1 

28 FACADE F690168B 1 

29 PORTE F690169U 1 

30 CHARNIERE F690170U 1 

31 SUPPORT DE GRILLE F690171B 1 

32 GRILLE F690172B 2 

33 CHENET F690173B 1 

34 TAQUE F690174B 1 

35 DEFLECTEUR F690175B 1 

36 REGISTRE F690176U 1 

37 ISOLANT VERMICULITE AI206490 2 

38 ENTRETOISE DE FERMETURE AS610306 2 

39 TIRANT Ø8 AS800276 4 

40 TRINGLE DE FERMETURE AS900107 1 

41 AXE DE FERMETURE AS900108 2 

42 POIGNEE AS900109 1 

43 CENDRIER AT900111 1 

44 TOLE D'APPUI DU REGISTRE AT900112 1 

45 TOLE DE FIXATION VITRAGE AT900113 2 

46 BRIDE DE TRINGLE DE FERMETURE AT900114 4 

47 EQUERRE DE FERMETURE AT900117 2 

48 CALE REGLAGE DE FERMETURE AT900118 4 

49 VITRE AXC07990 1 

www.pieces-de-poele.com




